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• HW # 4 due tomorrow
@ 9PM

! AW #5 3126 @9PM
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Chapter 4 is a
linear Algebra Primer
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or in matrix form
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A x = b .

We will always assume
that A

,
is INVERTIBLE ,



The following are EQUIVALENT (TI
-

TAE)
Axa

identity
A E IR

"'m

① A invertidle , ice .
A'

'

exists and AA A'
'AIM

⑦ Ax -- lo has a unique
solar X =A-to for

each lo
.

(3) Ax =
O has only theTRIVIAL

sobs X=o,

(4) deffA)
to /¥tI a

(5) The eigenvalues
of A
,
{Xi, Xz, - . .

,XD
,

are all non
- zero!



f- x -_ Xx

II.(
= -s

IT:(cosy)
= - l - cosx

II. (ex) - Ilex)


